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QUESTION 1

What are the minimum requirements needed to enable the Global Namespace Acceleration setting?
A. 1.5% of the disks capacity must be SSD 20% of the nodes must contain SSDs

B. 2.0% of the disks capacity must be SSD 5% of the nodes must contain SSDs SmartPool license
C. 2.5% of the disks capacity must be SSD SmartPool license

D. 20% of the number of disks must be SSDs

Correct Answer: A

QUESTION 2

An Isilon storage administrator has created a 500 GB quota on a new directory called “/ifs’lhomedirs\\'. The administrator
then begins migrating files from a Linux server through NFS to the new directory.

The migration tool returns a "Disk quota exceeded" error and fails to complete after approximately 400 GB of files are
copied to the Isilon cluster. However, the cluster is reporting 10 TB of unused capacity.

What is the most likely cause for this error?

A. Hard quota includes overhead

B. SmartPool tier capacity has been exceeded
C. Soft quotas have been exceeded

D. Only the root can exceed 80% of quota

Correct Answer: A

QUESTION 3
A company has an Isilon cluster on which they want to configure dynamic pools. The cluster consists of 5 nodes. The
pool will consist of one 1Gbps Ethernet external interface on each of the nodes. Because the address space is limited at

the company\\'s site, they will need to implement dynamic pools using a minimum number of addresses.

If the company puts all interfaces in one pool and sets it to dynamic with round robin failover, how many addresses need
to be put into the pool to ensure an even number of IP addresses per node after failover distribution should a node fail?

A. 4
B.8
C.15

D. 20
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Correct Answer: D

QUESTION 4

Which type of information does the Isilon isi statistics command provide?
A. Protocol and node statistics

B. Job engine and critical alerts

C. Drive replacement and node management

D. Drive statistics and hardware condition

Correct Answer: A

QUESTION 5

What accurately describes the behavior of On Disk Identity set to native on an Isilon cluster?
A. A file will be owned by a user\\'s real SID if no real UID exists for that user

B. All files in shares can only be owned by a SID

C. All files in exports can only be owned by a UID

D. User identities must be defined through external authentication providers

Correct Answer: A
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